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CHAPTER

NUMBER SYSTEM

1[:k iYr

Which number among 34623, 34716, 34782
and 34783 is NOT divisible by 3?

34623] 34716] 34782 wij 34783 e 1 dcluglh 1[;k 3
foHiT; ugh g\
(a) 34716
(c) 34623

(b) 34783

(d) 34782
[SSC CGL Pre 2023 (19-07-2023, Shift-2)]
Which number among 98984, 98992, 98998
and 99008 is NOT divisible by 8?
98984] 98992] 98998 wij 99008 e I diu&lh I[;k 8
foHiT; ugh g\
(a) 98998
(c) 98984

(b) 98992
(d) 99008
[SSC CGL Pre 2023 (19-07-2023, Shift-4)]
Which of the following numbers is divisible by 8?
futufyf[kr e 1 diu&lh I[;k 8 1 foHiT; g\
(@) 18718 (b) 18716
(c) 18712 (d) 18714
[SSC CGL Pre 2023 (25-07-2023, Shift-2)]
Which of the following numbers is divisible by 9?
futufyfer e 1 diu&lh 1[;k 9 1 foHiT; g\
(a) 83061 (b) 29568

(c) 78695 (d) 47695
[SSC CGL Pre 2023 (20-07-2023, Shift-2)]
Find the value of ‘a’ to make 6234a6 divisible

by 9.

a’ di elu Kir dift, rifd 6234a6, 9 1 foHiT; g
(@) 8 (b) 7

(c) 10 (d) 6

[SSC CGL Pre 2023 (21-07-2023, Shift-4)]

How many of the following numbers are divisible
by 3 but NOT by 9?

futufyfer e I fdrun 1[;k, 3 1 foHdT; g yfdu 9 1 ugh\
5826, 5964, 6039, 6336, 6489, 6564, 6867
and 6960
(@) 5 (b) 3
(c) 4 (d) 6

[SSC CGL Pre 2023 (27-07-2023, Shift-3)]

10.

11.

12.

Which number among 11368, 11638, 11863
and 12638 is divisible by 11?

11368] 11638] 11863 vij 12638 e 1 dcluglh I[;k 11
I foHiT; g\
(a) 11368
(c) 11638

(b) 12638

(d) 11863
[SSC CGL Pre 2023 (27-07-2023, Shift-3)]
Which of the following numbers is divisible by 117?

fukufyflkr e 1 diu Ih 1[;k 11 1 foHiT; o\
(@) 5214341 (b) 6598321
(c) 5648741 (d) 2378965

[SSC CGL Mains 2022 (7-March-2023)]
A six-digit number 11p9qg4 is divisible by 24.
Then the greatest possible value for pq is :
Ng vdk di ,d I[;k 11p9qg4, 24 1 foHiT; gA rc pq
d fy, vi/dre IHo elu gh
(a) 42
(c) 56

(b) 32

(d) 68
[SSC CGL Mains 2023 (26-10-2023)]
A 9-digit number 846523X7Y is divisible by 9,

and Y - X = 6. Find the value of \/ox +4Y .

846523X7Y ,d ,Ih 9 vdh; I[;kg th 9 I foHdT;
g Vij Y-X =60k m dk elu Kir dift,A
(a) 4 (b) 2

(c) 6 (d 8

[SSC CGL Pre 2023 (26-07-2023, Shift-2)]
Which of the following numbers is divisible by 44 ?
fueufyfer e 1 diu&lh I[;k 44 1 foHiT; g\
(a) 32802 (b) 54736
(c) 93472 (d) 27048

[SSC CGL Pre 2023 (25-07-2023, Shift-4)]

Which of the following numbers is divisible by
99 ?

fuEufyf[ir e 1 cu&lh 1]k 99 1 foHdT; gA
(a) 31548 (b) 60687

(c) 44775 (d) 84456
[SSC CGL Pre 2023 (25-07-2023, Shift-2)]
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NUMBER SYSTEM ABHINAY MATHS I

40. (c) First 111 whole numbers 48. (c)f(x) = x>+ px+4)=0
O+1+2. ... 110] Putx =3
nmn+1) 110(110+1) _ 3*+3p+4=9+3p+4=0
5" > =55x 111 3p=-13
= 6105 13
Unit digit = 5 Y

41. (b) Factor of x* + x2 + 25
=(x2+3x+5) (x2-3x+5)
By option : (x? + 3x + 5) (x> -3x + 5)
= (x + 5 - (3x)°
x*+ 25+ 10 x2 - 9x2
x* + x2 + 25
42. (b)(mx + n)? = m? x? + 2mnx + n?

43. (c)g>pandr>s

49. (a) N = 41 + 412 + 413 4 414
=41 (1+4+16+64)
=4!1x 85
=411x 17 x5
IfN=P*xqgPxre
then no. of factors = (a+1)(b+1) (c+1)
=22x 17x5=23x2x2 =092
50. (b) N=99 =318

q>p>r>s

All number have three prime factor . No. of perfect cubes by which 318 is divisible
One digit »s, r are 3°, 33, 3, 3%, 312, 315,318 =7
Y] 22 =4 51. (d) N=3"+313-12
r-3 32=9 =383+1)-3x4
two digit -»p, q =12(312-1)
p—5 52=125 =12 (3%-1) (3° + 1)
-7 7 =49 = 12 x 728 x 730
p—q—1=25—49—1=is=_5 =12 x 728 x 73 x 10
r-s 9-4 5 - 73 is the largest prime factor of N.
S5=-4-1=-s-1 52. (c) Remainder = 39
44. (c) (30)° x (24)° Divisor = 6 x 39 = 234
=(2x3x5)Px(2x2x2x3)3
= (2% 3 x5)°x (22 x3)° Quotient =%= 18
=025 x 35 x 55 x 215 x 35
= 020 x 310 x 55 Dividend = Divisor x Quotient + Remainder
No. of prime factor = 20+10+5=35 =234 x18+39
45. (a) 8% + 5% =4212 + 39
Let is suppose K =1 = 4251
=82+52=64+25=89 53. (¢) Number N divided by 363, then leaves
as 89 is a prime No. remainder 17
Hence the factor of 89 N= 363K+ 17
46. (c) 3600 —» 32x 52x 24 Remainder when N divided by 11
No. of factor = (2+1)(2+1)(4+1) 363K +17
= 3x3x5 =45 =

11
47. (a) 10' = 2 digit

102= 100 — 3 digit

10" = (n + 1) digit [Ans includes (n+1) digit]
9 x 10%° = 10%9= (99 + 1) digit

=100 digit multiply by x 9 single number

Remainder = 6
Alternate:
Short method :
17 is divided by 11, then remainder is 6

oDr cnyri g fifj cnyxt Il tol viuk gixid ﬁ
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